oPT

OQC-0401188 N\ BatRiz

0OQC-040 Robot automatic quick changer

e #E40kg;

o RANBKIERTS
* BRI

e Payload capacity 40 kg;

® Steel ball lock system;

® \W/ith dustproof function;

® Adopt the mechanical self-locking design;

o RANMI B8R
o S IR=IMI BT RS ;.

— EERIFH (KN) Connection retention

— #&FH (KN) Lifting force

® Prevent separation separation from separating when when source of cut off;

— THEEMR (um) Moment clearance
— BB (um) Torque clearance

60

: P

(NM) S

30

(NY) T @i

o =~ N W K o O o~

0 0.2 0.4 0.6 0.8

a5 E(MPa)

OQC-040&EE 1. RANHEE

OQC-040 Continuous relay, lifting force curve

I Specifications

PN Nz Pa)

Mainbody

it

Component
(i%&Ee Opti

AMEEEEFERE)Payload capacity
B EEFEE Positon repeatability

B0 SaiE 14 4B 75 18] Bending direction( Mx.My)

Static allowable torque

%875 @ Torque direction( Mr)
PEH (HSE 0.49Mpafd) Tight locking force (When the air pressure is 0.49Mpa)
84K Main body
¥ & Material —
ENMELS Locking mechanism
MR T (B ERfLock) Housing diameter(Lock when locked)
L2 Al Robot side

T EM Tool side

FEEREE Product weight

FEELEH Disassembling institutions
R RN{ESJE Disassembling action pressure
AR ESIEESEE Allowable temperature and humidity range

1B General 8BS 7L Pneumatic port

1B General

FB{55 = Electrical signal

P iEtRZAE MODULE INSTALLATION DESCRIPTION

SRR EERE)
Signal module (direct mounting)

(=)

IR
Adapter mounting block

HIgEEIR Quick changer agent

ESER(BEEERRE )
Signal module (mounted Via adapter block)

27 www.opt-eoat.com Data Drawings, 3D Models,Operating Instructions

7% (N.m)
OQC-040%4E. MBTHEE

40kg

£0.02mm

157N.m

216N.m

4090N

fRE&® Aluminum alloy

&2 Alloy steel
®130mmxH60.2mm

1.39kg

0.84kg

MEKEHE Steel ball position lock
0.39~0.7MPa(4~7kgf/cm?)
0-55T, 0-95%(F~%58&ENo condensation)
M5 x 104

2A X19PIN/BA x12PIN

SRR AR
Adapter mounting block

SEY RER( B ERRE R

Gas path expansion module 8moumted via adapter block)

OQC-040 Bending moment and torque changer curve



88 N\ BohiRig
ROBOT AUTOMATIC QUICK CHANGER

P 9MERS OVERALL DIMENSIONS

MEEAM: OQC-040-A
Robot side
1J5%m=: 7.03.01.0015

Order number

B

Price

33
|
i 000000
ﬂ 001 l‘ m ‘ P! b SN
00O o 0 @
T L\ [ ]
2x@4 H7v7.5/ 2xM376
12-G1/8
S 1043#57,
X558 L: BIE#HSIL
LI01054 [ u: RS
o
)
O~
— o =
O
Y O
@ )~ )
D LIOs=
@53 40.1 ‘ 60.2
WP EEEE

8xM6V9

§ PTLO2-19P-I-A
ESHEIR

TEM: OQC-040-B

Tool side

1J5%w=: 7.03.01.0016

Order number

B

Price

10-G1/8 #SFL

6 x @6

33

ABRE
L 1910.5V7

60.2
AN ENEE

i .
e I @ O 0 ~
el 1% u':|’ | "”| R l N
[

P 235588 INSTALLATION DESCRIPTION

HEBEAFE Robot arm
‘ EHEE= Connecting flange ‘

2-@6x12

Flange mounting plate
tapping M5 teeth

I | 6-M5x35
QQ =} Q LERB M5 5F

[
2xM3$6/ 2x@4HTVT1.5
4-M6x30
RERB M6 FHIZRE

Mounting plate tapping M6
teeth Directly installed

6-M6x22 w

EERATE, KR 65137
Connecting fixture fixture, mounting
plate  6.5through hole

BS5EHE8R . PTLO5-12P-1-A
Electrical connector PTL02-19P-I-A

BHAIS$EL: AP.5002000N20
Straight gas connector

BAEBATSHINAES
Media through for
pneumatic and vacuum

23, PTL02-19P-I1-B
ES1ER

EBS5E$%88 . PTLO5-12P-1-B
Electrical connector PTL02-19P-I-B

/

LEISHEL: PL6

L type connector

Data Drawings, 3D Models,Operating Instructions www.opt-eoat.com 28



	页 26
	页 27

